S|MPLE HARMONIC OSCILLATloN — HANDOUT

Last  Fime: ”{f £ 264 =0 — #2a

dy
Lo
A&Zb : gké #2(_: 7 (0): (O

& = 2oy v(0)= 0

2 2 \ )
L+ 20y = -p an(BE) + 20 s (pt) = O

dy 2
= - s 5‘—)
dkl é ( S‘\l<#> <'ﬁ1+20) :O
/ ﬁl: 20 )
D ) W= s (2E +
}ﬂ\/e,s ﬂ" 2& — 7 1 N a (so!u"fw
y(’tﬁd or

B= 25 — y®) =i (-ZE{)t - s (Zf‘;l»)

Mo 3¢/\ua”>y %(Q):A s (254) | s @ slbe

AclR

b the dHantial ¢
Nete: /L/z(g: B@s(lfsk) Uoae g bt not o the Swtinlvelie problen

=

soldion & the  Lferential %w‘f‘b/\.
TC Bolo, then l0=10 ol %20, o (k)= 10 ws(254)

s the TVP
w= U R R g, [2z¢) “

The guwmi solukien o %lé +20,=0 syl A sin (2554) + R cs(2054).

@ Veckor Feld:

| e e

Day 128 Page 1






